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Cluster: 0256 ptr; resid: 0.28; r/c: 27/81

x.range

upstream meme PSSM #1; e=270

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=1.6e+03

1 3 5 7 9 111 3 5 7 9
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17198

47999

21116

8720

25420

26346

4632051005

9197
31768

16074

17332

19690

32846

34564

37579

42754

45039

46163

46461

46522

47116

47412

47492

48686

49738
51868

string −500 −400 −300 −200 −100 −1
47116−0.17
34564−0.17
47492−0.17
17198−0.23
46461−0.40

9197−0.54
31768−0.77
17332−0.84
47412−0.90
49738−0.97
25420−1.47
45039−1.48
46320−2.02
46522−2.56
32846−2.68
16074−2.75
51868−2.94
51005−2.95
26346−3.08
48686−3.62
19690−3.86

8720−4.83
42754−4.85
47999−5.33
21116−5.83
37579−6.94
46163−7.37

log10(P) upstream meme1 2 log10(P.clust)=−2.58; 27 seqs; 27 uniq
c(0.5, 2.5)
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